Il )

p B Phép céng 2 chit s6
Tén: Ngay thang: Piém:____

17 39 27 98 64

+24 +17/ +65 +32 +83
46 50 31 88 91

+27 +74 +71 +36 +50
43 27 49 96 41

F7 64 457 478 430
46 26 34 46 52

+18 487 486 485 488
31 24 54 28 69

+94 +71 +16 +29 +30
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Phép céng 2 chit s6

Tén:

17
+24
41

46
+27
/3

43
+77
120

46
+18
64

81
+94
175

89
+17
106

50
+74
124

27
+64
91

26
+87
113

24
+7/1
95

27
+65
92

31
+71
102

49
+57
106

34
+86
120

54
+16
/0
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Ngay thang:

98
+32
130

88
+36
124

96
+78
174

46
+85
131

28
+29
57

Piém:

64
+83
147

o1
+50
141

41
+30
/1

52
+88
140

69
+30
99
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